TAY
® The J! of the solution ue\% : CMP (28)= CVP(30)
does not necessarily fmply  fhe 3! of the

Loamu{r Pumeln AeA: (u,)N) € XxN
uniquely solves the MVP (2)= Sep c32) Y
= Coundter-example :
@) Consider CMP ia X=IR?: Find (el’s (x54?) —m
s x+y=2
= JF! solutivn X"—‘:l=4
antaaal, functiomal : X = R, A=IR1
LR A) o> x22qP+ Alxay-2)
= 3! EP x=yzq oud Az -2 (wme)
1) Comsiler CMP ja X=2MR2: Fuad (§)60°: txh)mi
s, x+q=2
=D 3! x=y4=1 dxifa =6
Laar“ag funchpual ¢ X = ”22' A -“'Rz
LU )= xt?areen 2 etaey)

D SP: k=424 aud Al (?Jell?z: ,l+s,.=z (semt)
i.Q'. Las ftu? pmmc’ws ase not 0“(7('( ,'
| JF the LBB"ConJ(}.Gq 13 QC’J:%&«G% fa//}'//eJ, le.
o siaedasd q_::qu—phbu (3) and

© additivual Qc:mpﬁo'n.t CZ?),
ten all formulativns are oa,w'vq(en/ ¢

(MVP) = (SPP) <& (CVP) = (CMP)

| &= \/
FleueX=A  JireA J ue’@



